——
N = 0] &F AF S & AN A
20178 = 20 A LEHSH & Al
2K a8 AE D
M JIF0Q &) £E2 2XNAHA M2
S -2 AISEN 2435 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HEaEAYE D 19,240,798 16,729,251 2,511,547
= 3,089,853
Jl 1,128,382
= 1,329,999
Al 13,692,564
IF0| &) £2 SXAAHA H2 14,236,405 11,292,482 2,943,923
= 3,089,853
J| 278,330
& 1,204,889
Al 9,663,333
A9 AISIEONH &4d3t 119,290 116,800 2,490
S X 42,970 44,200 A 1,230
201 et 9| 3,220 2,800 420
01 AP 2t 2] H| 3,220 2,800 420
ONBS9IAs 3o HMsg
70,000& 10 43| 2,800
OdEHeEAHAHII/AAG 3o EHA&4E
70,000& *6H *13] 420
203 €2 F=&d| 9,500 9,800 A 300
03 AIZH =X 2= XY 9,500 9,800 A 300
OA&Ed=EX 28 g2FXN 9,500,000& 9,500
301 et A= 30,250 31,600 A 1,350
09 HAIAHI B A S 30,250 31,600 A 1,350
OSAIIA SN BENE & XA
FA3AS 10,000,000 10,000
O ALA KSESAMX Ad B4
10,000 x45% x453| 20,250
2SN 29 600 38,600 A\ 38,000
301 et A= 600 600 0
09 HAIAHI BAZ 600 600 0
O - s L @A I B4
10,000& x60H 600
HAERSEZA =M 66,600 34,000 32,600
201 et 14,100 11,500 2,600
01 AP 2t 2] H| 14,100 11,500 2,600
OMEASSHEI U &8 XS B4 DR
8,000,000& 8,000
OMEASSHEIL HaAMY HEE S
60,0002 2004 AF 1,200
OOIMESTA MY ASLHDS
2,800,000& 2,800
OWHRZIEAN ZHdEAM oG
70,000& 15 23| 2,100
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fA: O

EE=ENSn

M JtF01 &) £2 SXAAMHA M3

CHRl: (A9 At3l& 0 &43t (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
207 S0 & 40,000 20,000 20,000
01 | 40,000 20,000 20,000

OHM2A 2EFA HHSHM SH)| LY E S
g aAxxEd 40,000,000 40,000
301 Bt A= 12,500 2,500 10,000
09 HAIAHI EAZ 12,500 2,500 10,000
OWHEESBIT Al AQTENHS SSHl K&
10,000& x50Y *53| 2,500
OXHEEAM L AISTE S, AIQ A5t
= 10,000,000& 10,000

A Y XpE2e 9,120 0 9,120
201 et d| 9,120 0 9,120
01 AFR 2t 2| bl 6,720 0 6,720

ORHY NAY 298 442
110,000& 12& 1,320
OX& Xl 450,000 ~12& 5,400
02 Z2=2=24%4| 2,400 0 2,400
Ox&x Xyl 200,000& x12& 2,400
e & HAdE =2X=4A 2,577,421 3,353,133 ANTT75,712

EHMAHLAEAEME EH2 2,577,421 3,353,133 ANTT75,712
306 542 2,577,421 3,353,133 ANTT75,712
01 s2 2,577,421 3,353,133 ANTT75,712

OBFANHLEEAGENE 29 EH2

2,577,421 ,000& 2,577,421

HAEXAAE X 483,600 530,000 AN46,400
& 145,080
Al 338,520

22 N=SXNHEE 29 130,000 130,000 0]
& 39,000
Al 91,000

307 2iz2tol & 130,000 130,000 0
= 39,000
Al 91,000

10 MM SAANEEHESIGHEX 130,000 130,000 0
OdZ2=XN=EXNHEH 29| 130,000, 000& 130,000
o 39,000
Al 91,000

HEQSEILHEH &9 203,600 200,000 3,600
& 61,080
Al 142,520

307 QI2t0| ™ 203,600 200,000 3,600
&< 61,080
Al 142,520
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2N

X ZH
S =

el

HedEA24E
©OES0l &)
HA=TAE K&

£2 SNANEA WS

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

10 AF2I S XAl

OO0 &=z ale

203,600,000&

H

Al

203,600

203,600

61,080
142,520

200,

000

H

Al

150,000

45,000
105,000

200,

000

/50,000

307 glztol &

= M

150,000

45,000
105,000

200,

000

/50,000

BN

11 A2l S XAt

OZH8HE

2 @
0x H
a
0a

SR

50,000,000&

= M

50,000,000&

in

Al
50,000,000&

=

150,000

50,000

15,000
35,000

50,000
15,000
35,000
50,000
15,000
35,000

200,

000

250,000

HdMZLotIldH

= M W

404,014
296,607
53,704
53,703

,860

A 11,846

bl

MHE HHLAHA 2

A
0

= MW

126,480
63,240
31,620
31,620

122,

280

4,200

307 21201 A

Z MW

126,480
63,240
31,620
31,620

122,

280

4,200

A SXAIE E =

OFSEAHA 21 2b]

OFIEAHA FH

ksl

gk
=2

=

e
el

(u]

i

pN|
e

o
02

w 2

1

-~
Eay

03,920,000&

= W

232
19,560,000&

= M W

fo

o
o
o
o
o g

= on
Il

= M W

126,480
103,920

51,960
25,980
25,980

19,560
9,780
4,890
4,890

3,000
1,500
750
750

122,

280

4,200
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2N
IR0l #0122 =SXAMHIA WS

el

X ZH
S =

HeEAEN

HEaMZLaoIdH

o
Icé'

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

MEHE oa2dhl

MO0

= N H

4,000
2,000
1,000
1,000

307 21201 &

= N H

4,000

2,000
1,000
1,000

4,000

ARSI S XA E X

OM2dE d1t=23H| 4,000,000&

= N H

4,000
4,000

2,000
1,000
1,000

4,000

M HE At 2t2ldl ¥ APZ= 22l AFEHI

= Hn W

30

7
7

,334
15,
,584
,583

167

38,

880

A8,

546

307 21201 A

= M W

,334
167

7,584
7,583

38,

880

A8,

546

1A SXAIE E =

OArg 2tels

pl=!
>
ol
s
o

At bl
30,334,000&

= W

30,334

30,334
15,167
7,584
7,583

38,

880

A8,

546

=
e
2
0x
re
o
=
Ho
0

= MW

135,000
108,000
13,500
13,500

120,

000

15,

000

307 21201 A

= 0N

135,000
108,000
13,500
13,500

120,

000

15,

000

1A SXAIE E =

OMEHE UEM 23 135,000,000&

= N H

135,000

135,000
108,000
13,500
13,500

120,

000

15,

000

MEHE A=

Gl

0H

2 AL

ol

H

108,200
108,200

,700

A1

,500

307 glztol &

H

108,200
108,200

,700

A1

,500

o
OFALHOIL HNLERH X2

108,200,000&

108,200

108,200

119,

700

A,

500
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fA: O

EE=ENSn

M JIE0 &40 £E2 =SAMEA M3
CHel: HEMZLGHIIdEH 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | = 108,200
ogzae s 695,474 1,127,111 AN 431,637
= 32,278
J| 278,330
< 99,206
Al 285,660
32 H58 - S0H0H - &= - HEEF g 3,000 3,000 0
=
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
ORELY HBIZ - 4040 - HZ . JpE= o
M 500,000 x63| 3,000
MASHOIEZS LA BESAE) 16,217 15,430 787
= 14,595
< 1,135
Al 487
301 L2 A S 16,217 15,430 787
= 14,595
= 1,135
Al 487
01 MEIBZE 05z 16,217 15,430 787
OJNE=ZLLUoHA ESAE dAsSH
16,217,000 16,217
= 14,595
< 1,135
Al 487
=" Okt XNFAIE SAX EU=s 1,800 1,872 AT2
J| 900
< 450
Al 450
201 LBH2d| 1,800 1,872 AT2
J| 900
= 450
Al 450
01 At 22l 1,800 1,872 ANT2
O =HIIHA XIFAE SAX =
1,800, 000& 1,800
J| 900
< 450
Al 450
NHEES Lok ESAE 228 K& 138,140 148,014 N9Q,874
J| 50,021
< 10,719
Al 77,400
307 glz2tol & 138,140 148,014 N9Q,874
J| 50,021
= 10,719
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ARG RS~
3 JIF0 #J £2 SANAMUA W3

Sl e S (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 77,400
05 QIZtR E 2 138, 140 148,014 N9,874
OJIE =0l At ESAE 29
138, 140, 000& 138, 140
J| 50,021
< 10,719
Al 77,400
NHEE=Y Lokt ESAIE & 14,425 14,424 q
== 4,327
Al 10,098
307 2iz2tol & 14,425 14,424 1
= 4,327
Al 10,098
11 AIS S XA E =X 14,425 14,424 1
ONHEAMMHK 2EALE KB 14,425,000 14,425
< 4,327
Al 10,098
IIEZS IOkl ESAIE HE=2 MABI(2E ) 10,000 10,000 0
= 10,000
307 212t0| & 10,000 10,000 0
= 10,000
11T A EXAIEEX 10,000 10,000 0
OJIE=20iol At ESAIE H &2 MAH X
10,000, 000& 10,000
= 10,000
IIHES Do BSAL JIS2L(SYNR) 5,000 5,000 0
J| 2,500
& 1,250
Al 1,250
307 gizto| A 5,000 5,000 0
J| 2,500
& 1,250
Al 1,250
11T A EXAIEEX 5,000 5,000 0
OJIEZZNNA ESAE JlsE22H|
5,000,000& 5,000
J| 2,500
& 1,250
Al 1,250
IR EZS HOlol X 228l XIS 10,000 13,000 A 3,000
J| 7,000
& 1,500
Al 1,500
307 ciztol A 10,000 13,000 A 3,000
J| 7,000
& 1,500
Al 1,500
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ARG RS~
3 JIF0 #J £2 SANAMUA W3

Sel: oEAY B (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 10,000 13,000 A 3,000
OJrd== Tk &4l XI& 10,000,000 10,000
J| 7,000
< 1,500
Al 1,500
IHEEE Lol X2 3= 2208 29 20,000 20,000 0
J| 14,000
< 3,000
Al 3,000
307 21201 A 20,000 20,000 0
J| 14,000
< 3,000
Al 3,000
11T M3 SRASEEX 20,000 20,000 0
ONEEZY Ioikt XNE-sI==Z208 24
20,000,000& 20,000
J| 14,000
< 3,000
Al 3,000
HE=S Ot AF 1 E g 2208 29 25,000 25,000 0
J| 17,500
< 3,750
Al 3,750
307 21201 A 25,000 25,000 0
J| 17,500
< 3,750
Al 3,750
11T MISAASEX 25,000 25,000 0
OJNE=ZE Jioll At & - g T2 2H
25,000,000& 25,000
J| 17,500
= 3,750
Al 3,750
I8 =Y Ok AGEEH(2YXHA) 4,214 3,500 714
J| 2,950
< 632
Al 632
307 21201 A 4,214 3,500 714
J| 2,950
< 632
Al 632
11T MISAASEX 4,214 3,500 714
ONEEY IHoi Xt M=l 4,214,000 4,214
Jl| 2,950
= 632
Al 632
HE=EY 4L 29 73,690 71,700 1,990
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PHEEAE
D OEE0 A0 E2 EXNAMHIA WS
: O:I{\;?JO' =X|

= ow

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Jl 36,845
& 18,422
Al 18,423
307 i+l & 73,690 71,700 1,990
J| 36,845
< 18,422
Al 18,423
10 ALSISXAIEEE2EHEX 73,690 71,700 1,990
ONE=gagas 29 73,690,000 73,690
J| 36,845
< 18,422
Al 18,423
NEEY AL SAN E22 = 1,800 3,600 A 1,800
< 540
Al 1,260
307 21201 A 1,800 3,600 A 1,800
< 540
Al 1,260
10 ALSISXAIEEER2IHEX 1,800 0 1,800
ONF=gaGs BN S22 =
,800,000& 1,800
= 540
Al 1,260
A== Ok =8 K& 30,000 36,041 26,041
J| 21,000
< 4,500
Al 4,500
307 21201 A 30,000 36,041 26,041
J| 21,000
< 4,500
Al 4,500
11T MISXASEEX 30,000 36,041 26,041
Od=Z4nci it 2zdl XA 30,000,000& 30,000
J| 21,000
< 4,500
Al 4,500
dZ4 Ok X2 =2 Z208 2 14,000 14,500 A 500
J| 9,800
< 2,100
Al 2,100
307 gl2tol & 14,000 14,500 A 500
J| 9,800
< 2,100
Al 2,100
11T M SXAIS EX 14,000 14,500 A 500
Og=8Idik Ng 3585 T2 29
,000,000& 14,000
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CodEAEn

DOES0l A0 E2 SAAMHA WS

N PEE T oEe)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
Jl 9,800
& 2,100
Al 2,100
d=Z< Jiol A & g 2238 299 11,000 8,251 2,749
J| 7,700
& 1,650
Al 1,650
307 21201 ™ 11,000 8,251 2,749
J| 7,700
& 1,650
Al 1,650
11T M SRASE EX 11,000 8,251 2,749
O&=DtolA ¥ - N2 29
11,000,000& 11,000
J| 7,700
=) 1,650
Al 1,650
428 dga 29 73,688 71,700 1,988
J| 36,844
< 18,422
Al 18,422
307 21201 & 73,688 71,700 1,988
J| 36,844
< 18,422
Al 18,422
10 AL SXAIEEE2EH EX 73,688 71,700 1,988
Od=g4dgs 29 73,688,000 73,688
J| 36,844
= 18,422
Al 18,422
HdE2Y AL SAL E22 Y 1,800 0 1,800
=) 540
Al 1,260
307 glz2+ol & 1,800 0 1,800
=) 540
Al 1,260
10 A SXAEHE2SEHIEX 1,800 0 1,800
OLEZHLE DL BAX Ex2 =
1,800,000& 1,800
= 540
Al 1,260
S2E MHA XJAY 18,000 18,000 0
& 12,600
Al 5,400
201 -4 18,000 18,000 0
& 12,600
Al 5,400
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2N
IR0l #0122 =SXAMHIA WS

el

X ZH
S =

HeEAEN

CEEEEE-$

[un |

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 18,000 18,000 0
O AHIA XA 18,000,00094 18,000
< 12,600
Al 5,400
= 44 OH O H4E2d gns 14,760 14,760 0
< 4,428
Al 10,332
307 21201 A 14,760 14,760 0
< 4,428
Al 10,332
11T MISXASEX 14,760 14,760 0
OJNE=EY - S0 - &= P us
14,760,000& 14,760
< 4,428
Al 10,332
HAE=SXAIE SAX H<LIHAL 5,400 0 5,400
= 5,400
307 glz2+ol & 5,400 0 5,400
< 5,400
05 RIZt2E = 1,800 0 1,800
ONE=HINK ESAE SAK HRIMEHI
1,800, 000& 1,800
< 1,800
10 ALSISXAIEEE2EHEX 3,600 0 3,600
OJNE=EY, dZH4EAL SAXN HSRIHAH
3,600,000& 3,600
< 3,600
OtsetM XIS M= 8,125 8,125 0
= 4,063
< 2,031
Al 2,031
201 L2l 8,125 8,125 0
= 4,063
< 2,031
Al 2,031
01 At 22l 8,125 8,125 0
O0tsetdE X & H& 8,125,000 8,125
= 4,063
< 2,031
Al 2,031
OFSUEAT XAA 2 7,240 7,240 0
= 3,620
< 1,810
Al 1,810
201 Let24d| 7,240 7,240 0
= 3,620
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ARG RS~
3 JIF0 #J £2 SANAMUA W3

el gy sd

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,810
Al 1,810
01 At 22l 7,240 7,240 0
Ots&etd NGt 29 7,240,000 7,240
= 3,620
< 1,810
Al 1,810
FLEHLERHH 29 188,175 181,855 6,320
J| 71,270
Al 116,905
307 21201 A 188,175 181,855 6,320
J| 71,270
Al 116,905
05 RIZtelEt = 188,175 181,855 6,320
OHLUHESEH 22 188,175,000& 188,175
J| 71,270
Al 116,905
Aot #=8 EXNE MElA WS 5,776,237 1,934,398 3,841,839
= 801,249
< 268,103
Al 4,706,885
ER N ONEE =N = 3,815,000 300,000 3,515,000
301 gt d= 3,815,000 300,000 3,515,000
01 MI2EZE 06z 3,815,000 300,000 3,515,000
OsHX3S = 3,815,000, 000& 3,815,000
ATot ola 282 & 508,560 468,000 40,560
301 et d s 508,560 468,000 40,560
01 MEI2ZE 406z 508,560 468,000 40,560
OATHOL Ol&af Aldo BE8E K&
20,0003 *2,119¥ x12& 508,560
AZINMEXNBHH 29 199,928 202,220 A2,292
= 53,908
Al 146,020
307 glz2tol & 199,928 202,220 A2,292
< 53,908
Al 146,020
05 RIZERIE 3 199,928 202,220 N2,292
O FRNAEH 29 199,928,000 199,928
< 53,908
Al 146,020
HBINBRNAEEH BAR Ex=2RE 10,800 8,400 2,400
< 3,240
Al 7,560
307 21201 A 10,800 8,400 2,400
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2N
©JEE0l &0

el

X ZH
S =

HeEAEN
|

£2 SNANEA WS

225t =8 IIEXE NMHA W3

SN ZH-S(SA) - HRAY

FBHHS

0l &t o

=

i
2m

H

Al

3,240
7,560

= M

10,800

10,800

3,240
7,560

8,400

2,400

= 0N W

1,141,369
798,959
171,205
171,205

849,478

291,891

307 21201 &

= M W

1,141,369
798,959
171,205
171,205

849,478

291,891

A S XA E =

Ootolss XA

1,141,369,000&

= N W

1,141,369
1,141,369

798,959
171,205
171,205

849,478

291,891

H

Al

4,580

2,290
2,290

19,000

N 14,420

307 glztol &

H

Al

4,580

2,290
2,290

19,000

N 14,420

1A SXAIE E =

OX0tite R2u=

4,580,000&

H

Al

4,580
4,580

2,290
2,290

19,000

A 14,420

dIIF0tLsH K&

= i

62,550

39,750
22,800

87,300

N24,750

307 21201 &

H

Al

62,550

39,750
22,800

87,300

N24,750

ARSI S XA E X
E

=]
OZJI=F0LI=H

o
T'__%E'

62,550,000&

Al

62,550

62,550

39,750
22,800

87,300

N24,750

o
(=)
°
o
i
H0
02

33,450

33,450

N
2
ne
e
M
02
=

12,000

12,000

2
O =
H 0
o
o
o =
o
Ho
08

(e)
N
1[3]
0H
Mo
02
==

6,000,000&

6,000
6,000
6,000

6,000

6,000
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Ha: b0l &0
el AYHD

ARG RS~
| €2 SXNAHA WS

d=et IIEXNE NHIA S

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
O|0tUsH 5322 S 6,000,000& 6,000
301 et a s 5,000 0 5,000
MIEEdS3 5,000 0 5,000
O=s0tt=sH X& 5,000,000 5,000
401 Al IR 201 I 15,000 0 15,000
01 A& Bl 15,000 0 15,000
Os0tL=H 228d S 15,000, 000& 15,000
405 RHoHF S HI 1,450 0 1,450
01 AL EZFH S 1,450 0 1,450
Os0tL=sH 28 ¢ 1,450,000 1,450
SUINESXAE K 436,140 426,729 9,411
= 86,672
< 51,470
Al 297,998
MASH (LIS SIAIE) 89,471 81,000 8,471
= 80,524
< 6,263
Al 2,684
301 et a = 89,471 81,000 8,471
= 80,524
< 6,263
Al 2,684
01 MEIBEE 263 89,471 81,000 8,471
OZXIIEEXNAE SA2X HASH
89,471,000& 89,471
= 80,524
< 6,263
Al 2,684
SRINEENAIE L2K% &4 - XF K 7,496 7,496 0
= 3,748
< 1,874
Al 1,874
307 21201 A 7,496 7,496 0
= 3,748
< 1,874
Al 1,874
11T MISRASEEX 7,496 7,496 0
OZXIIE=EXNAE 42X &E -z X
7,496,000 7,496
= 3,748
< 1,874
Al 1,874
SAINEEXNAIE L2017 HE#E2x3 X2 3,000 3,600 A 600
= 2,400
< 300
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2N
X ZH -
L= B

el

HedEA24E
JIE0 &0 £E2 SXNANEA WS
SIE=FXNAE K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 300
301 et d =S 3,000 3,600 A 600
2 2,400
< 300
Al 300
01 MEI2EZE+05l= 3,000 3,600 A 600
ORNIIESRAL YAII7 MBI
3,000,000 3,000
= 2,400
< 300
Al 300
SIAINEENAIE 22 33,575 33,575 0
S 10,073
Al 23,502
307 glz2+ol & 33,575 33,575 0
< 10,073
Al 23,502
11T M Z2XAS EX 33,575 33,575 0
OBXINE=XAL 29 XY 33,575,0009 33,575
< 10,073
Al 23,502
SRNEEXRNAE 2D (0L AR) 299,598 299,598 0
< 29,960
Al 269,638
301 YA 20,000 20,000 0
< 2,000
Al 18,000
01 MEIBEE 253 20,000 20,000 0
ORRIIE=RAL 4T VYRS N
20,000,000& 20,000
< 2,000
Al 18,000
307 21201 A 279,598 279,598 0
< 27,960
Al 251,638
10 ALSISXAIEEE2EHEX 279,598 279,598 0
OZXNNESIAIE 2L (0ILAR)
279,598,000& 279,598
< 27,960
Al 251,638
HE=XAE SAX HRMAU(ZXIISAIL) 3,000 0 3,000
< 3,000
307 glz2+ol & 3,000 0 3,000
< 3,000
11T MISAASEX 3,000 0 3,000
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2N
IR0l #0122 =SXAMHIA WS

el

X ZH
S =

HeEAEN

SIE=FXNAE K&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OWAEXNAE SAA HRI&HI
3,000,000& 3,000
& 3,000
SHE2IIs X2 2,908,756 2,623,428 285,328
= 1,562,072
== 504,214
Al 842,470
MASs St22IIE 0ls¥=Hl X3 1,825,920 0 1,825,920
= 1,460,736
= 182,592
Al 182,592
301 Lt A= 1,825,920 0 1,825,920
= 1,460,736
o= 182,592
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R oI AYE ot 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OEYOHES0IE W EAG3H XM EE€EH
Ax= 23,000,000 23,000
301 LBt A= 8,500 9,200 AT700
11 JIEtE A2 8,500 9,000 A500
OFAGEXNERSH E=H| 10,000& *200H 43| 8,000
OFAERMNEE MDEAZ 500,000& 500
307 212t0| & 149,900 149,900 0
11 A EXAIEEX 149,900 149,900 0
OgXeLREs EAE 8235 EX
22,500,000 22,500
OWUZelA XA 32,400,000 32,400
Ostn g A4 & 2I|HAYE XNRANG (22
) 70,000,000 70,000
Ostn=E=a olgt & FAEESAE(ZR)
25,000,000 25,000
402 SI2FAHE0| & 2,420 0 2,420
03 OI2HCH &4 AF S HI 2,420 0 2,420
OEHANEFAGUAIEH SHIHNLAMY
2,420,000 2,420
HAUXSHEH 29 700,052 690, 112 9,940
307 2Iz2to| A 700,052 690, 112 9,940
05 QIZ2tRE 2 700,052 690, 112 9,940
ORMANEHAEHHEXNJALEH 2
179,999, 000 179,999
ORAANFAEHAMSENLHMEH 2H
520,053,000& 520,053
HAESEI} Z20d 29 190,409 0 190,409
J| 57,811
o 12,782
Al 119,816
307 212t0| & 190,409 0 190,409
J| 57,811
o=t 12,782
Al 119,816
05 QIZ2tRE 2 190,409 0 190,409
OFAGESHEIR} T2 2912 190,409
—BEFMAFLAEHAMASSAHEH 190,409,000 190,409
Jl 57,811
== 12,782
Al 119,816
HAGEXNKAME 2 (X EAte HAEHSS XA A 119,678 119,678 0
Q=)
p] 45,050
Al 74,628
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Had A ALl &34
el 2IIIEAE ord e 25} (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 119,678 119,678 0
J| 45,050
Al 74,628
05 RIZHRI & 3 119,678 119,678 0
OBLHESE X2 M A (Cys—Net) =5 119,678
—2IANELEL4E=EXNHEH  119,678,000& 119,678
Jl| 45,050
Al 74,628
CHRSMH(EFAENCZAA IH)ESS XL 2,776 2,776 0
< 1,388
Al 1,388
301 g2 d= 2,776 2,776 0
< 1,388
Al 1,388
02 ¥et=stit= 2,776 2,776 0
OEERBIFL2EXNEA HH)ESZ X2
2,776,000 2,776
< 1,388
Al 1,388
dad SEXE 20,000 20,000 0
J| 12,400
< 1,140
Al 6,460
307 21201 A 20,000 20,000 0
J| 12,400
< 1,140
Al 6,460
11 ALS S XAEE = 20,000 20,000 0
O&EAad E8XE 20,000,000& 20,000
J| 12,400
< 1,140
Al 6,460
st o8 Ead X2 223,500 207,500 16,000
J| 107,800
< 20,850
Al 94,850
307 glz2tol & 223,500 207,500 16,000
J| 107,800
< 20,850
Al 94,850
05 RIZtE = 223,500 207,500 16,000
Ostw &8 HAid T2 29 X2 (ZHl) 69,500
— REA Fa2E4g=EX4dE 69,500,000 69,500
= 20,850
Al 48,650
Ostm % HAUXUE (2H])
154,000, 000& 154,000
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HiolE oA F Allbes &3 XA
R oI AYE ot 25 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 107,800
Al 46,200
HAE 288 2H(EH|) 30,000 45,000 A 15,000
= 9,000
Al 21,000
307 2Iz2t0| A 30,000 45,000 A 15,000
= 9,000
Al 21,000
11T A EXAIEEX 30,000 45,000 A 15,000
OFAd Z22E 2H(TH|) 30,000
—2Z0SotIE=2848 15,000,000 15,000
= 4,500
Al 10,500
—0leliotsZ28 15,000,000 15,000
& 4,500
Al 10,500
Had 228 29 25,540 33,660 N8,120
201 LBt 5,200 0 5,200
01 AP 22| d| 5,200 0 5,200
OAdZEE E2E2E Ml (3MA)
5,200,000& 5,200
307 2iz2to| & 20,340 33,660 N 13,320
11T AISIEXAIEEX 20,340 33,660 A 13,320
OFA4d B2 29 20,340
— gtejorsas 28 e 10,170,000& 10,170
— stet0IsS3d i 28 10,170,000 10,170
HEMSAAH (HAEAHAED) 52,080 49,560 2,520
JlEddl 52,080 49,560 2,520
Jl2 &4l 52,080 49,560 2,520
201 LBt 20,520 19,440 1,080
01 AP 22| H| 20,520 19,440 1,080
OBAM2d9II=23| 20,520
— Bt H| 40,0003 198 x12& 9,120
— = 2| 50,000& «19 x12& 11,400
202 044l 27,360 25,920 1,440
01 2Ol Hl 27,360 25,920 1,440
HE=XIE2 0 Y| 120,000& 19 x12& 27,360
203 €2 F=&d| 4,200 4,200 0
04 BN2YARETY| 4,200 4,200 0
ORMSIELEF=8H| 350,000 x12& 4,200
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